This report contains the transfers results.

Contest Name

Ward 8 - Isle of Bute

Valid Votes

Positions to be Filled

Quota

2,331 3 583

#### Stage 1

| Candidate Name       | Affiliation                              | No. of Ballot Papers |
|----------------------|--|----------------------|
| Fraser GILLIES       | Independent                              | 202                  |
| Reeni KENNEDY-BOYLE  | Scottish National Party (SNP)            | 591                  |
| Dawn MALCOLM         | Scottish Labour Party                    | 101                  |
| Liz MCCABE           | Independent                              | 553                  |
| Derek John MCFARLANE | Scottish Liberal Democrats               | 25                   |
| Robert MCGOWAN       | Alba Party for Independence              | 55                   |
| Jean Murray MOFFAT   | Independent                              | 320                  |
| Ewan STUART          | Scottish Greens - Think Global Act Local | 70                   |
| Peter WALLACE        | Scottish Conservative and Unionist       | 414                  |
|                      | Total                                    | 2,331                |

Candidate Reeni KENNEDY-BOYLE Elected with 591 votes, being in excess of the quota of 583

This report contains the transfers results.

## Stage 2 - Surplus of Reeni KENNEDY-BOYLE

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Liz MCCABE          | 107                     | 0.01353        | 1.44771           |
| Transfer to Jean Murray MOFFAT  | 81                      | 0.01353        | 1.09593           |
| Transfer to Ewan STUART         | 139                     | 0.01353        | 1.88067           |
| No further preference           | 131                     | 0.01353        | 1.77243           |
| Not transferred due to rounding |                         |                | 0.00377           |
|                                 | Total                   |                | 8.00000           |

This report contains the transfers results.

## Stage 3 - Exclusion of Derek John MCFARLANE

| Action                          | No. of Ballot<br>Papers |   | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|---|----------------|-------------------|
| Transfer to Fraser GILLIES      | ,                       | 3 | 1.00000        | 3.00000           |
| Transfer to Dawn MALCOLM        | ;                       | 5 | 1.00000        | 5.00000           |
| Transfer to Liz MCCABE          |                         | 3 | 1.00000        | 3.00000           |
| Transfer to Jean Murray MOFFAT  | ;                       | 5 | 1.00000        | 5.00000           |
| Transfer to Ewan STUART         | ;                       | 2 | 1.00000        | 2.00000           |
| Transfer to Peter WALLACE       | 4                       | 4 | 1.00000        | 4.00000           |
| Transfer to Dawn MALCOLM        | ;                       | 2 | 0.01353        | 0.02706           |
| Transfer to Jean Murray MOFFAT  |                         | 1 | 0.01353        | 0.01353           |
| Transfer to Ewan STUART         |                         | 3 | 0.01353        | 0.04059           |
| Transfer to Peter WALLACE       |                         | 1 | 0.01353        | 0.01353           |
|                                 |                         |   |                |                   |
| No further preference           | ;                       | 3 | 1.00000        | 3.00000           |
| No further preference           |                         | 1 | 0.01353        | 0.01353           |
| Not transferred due to rounding |                         |   |                | 0.00000           |
|                                 | Total                   |   |                | 25.10824          |

This report contains the transfers results.

### Stage 4 - Exclusion of Robert MCGOWAN

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Fraser GILLIES      | 4                       | 1.00000        | 4.00000           |
| Transfer to Dawn MALCOLM        | 2                       | 1.00000        | 2.00000           |
| Transfer to Liz MCCABE          | 16                      | 1.00000        | 16.00000          |
| Transfer to Jean Murray MOFFAT  | 18                      | 1.00000        | 18.00000          |
| Transfer to Ewan STUART         | 5                       | 1.00000        | 5.00000           |
| Transfer to Fraser GILLIES      | 2                       | 0.01353        | 0.02706           |
| Transfer to Dawn MALCOLM        | 4                       | 0.01353        | 0.05412           |
| Transfer to Liz MCCABE          | 7                       | 0.01353        | 0.09471           |
| Transfer to Jean Murray MOFFAT  | 10                      | 0.01353        | 0.13530           |
| Transfer to Ewan STUART         | 20                      | 0.01353        | 0.27060           |
|                                 |                         |                |                   |
| No further preference           | 10                      | 1.00000        | 10.00000          |
| No further preference           | 3                       | 0.01353        | 0.04059           |
| Not transferred due to rounding |                         |                | 0.00000           |
|                                 | Total                   |                | 55.62238          |

This report contains the transfers results.

## Stage 5 - Exclusion of Ewan STUART

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Fraser GILLIES      | 4                       | 1.00000        | 4.00000           |
| Transfer to Dawn MALCOLM        | 20                      | 1.00000        | 20.00000          |
| Transfer to Liz MCCABE          | 16                      | 1.00000        | 16.00000          |
| Transfer to Jean Murray MOFFAT  | 14                      | 1.00000        | 14.00000          |
| Transfer to Peter WALLACE       | 4                       | 1.00000        | 4.00000           |
| Transfer to Fraser GILLIES      | 15                      | 0.01353        | 0.20295           |
| Transfer to Dawn MALCOLM        | 26                      | 0.01353        | 0.35178           |
| Transfer to Liz MCCABE          | 31                      | 0.01353        | 0.41943           |
| Transfer to Jean Murray MOFFAT  | 23                      | 0.01353        | 0.31119           |
|                                 |                         |                |                   |
| No further preference           | 19                      | 1.00000        | 19.00000          |
| No further preference           | 67                      | 0.01353        | 0.90651           |
| Not transferred due to rounding |                         |                | 0.00000           |
|                                 | Total                   |                | 79.19186          |

This report contains the transfers results.

## Stage 6 - Surplus of Liz MCCABE

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Fraser GILLIES      | 121                     | 0.01180        | 1.42780           |
| Transfer to Jean Murray MOFFAT  | 208                     | 0.01180        | 2.45440           |
| Transfer to Fraser GILLIES      | 19                      | 0.00015        | 0.00285           |
| Transfer to Jean Murray MOFFAT  | 56                      | 0.00015        | 0.00840           |
|                                 |                         |                |                   |
| No further preference           | 154                     | 0.01180        | 1.81720           |
| No further preference           | 56                      | 0.00015        | 0.00840           |
| Not transferred due to rounding |                         |                | 0.00170           |
|                                 | Total                   |                | 6.96185           |

This report contains the transfers results.

## Stage 7 - Exclusion of Dawn MALCOLM

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Fraser GILLIES      | 26                      | 1.00000        | 26.00000          |
| Transfer to Jean Murray MOFFAT  | 23                      | 1.00000        | 23.00000          |
| Transfer to Peter WALLACE       | 16                      | 1.00000        | 16.00000          |
| Transfer to Fraser GILLIES      | 6                       | 0.01353        | 0.08118           |
| Transfer to Jean Murray MOFFAT  | 14                      | 0.01353        | 0.18942           |
| Transfer to Fraser GILLIES      | 5                       | 0.01180        | 0.05900           |
| Transfer to Jean Murray MOFFAT  | 7                       | 0.01180        | 0.08260           |
| Transfer to Peter WALLACE       | 4                       | 0.01180        | 0.04720           |
| Transfer to Fraser GILLIES      | 3                       | 0.00015        | 0.00045           |
| Transfer to Peter WALLACE       | 1                       | 0.00015        | 0.00015           |
|                                 |                         |                |                   |
| No further preference           | 63                      | 1.00000        | 63.00000          |
| No further preference           | 49                      | 0.01353        | 0.66297           |
| No further preference           | 23                      | 0.01180        | 0.27140           |
| No further preference           | 8                       | 0.00015        | 0.00120           |
| Not transferred due to rounding |                         |                | 0.00000           |
|                                 | Total                   |                | 129.39557         |

This report contains the transfers results.

### Stage 8 - Exclusion of Fraser GILLIES

241.28837

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Jean Murray MOFFAT  | 98                      | 1.00000        | 98.00000          |
| Transfer to Peter WALLACE       | 46                      | 1.00000        | 46.00000          |
| Transfer to Jean Murray MOFFAT  | 35                      | 0.01353        | 0.47355           |
| Transfer to Peter WALLACE       | 2                       | 0.01353        | 0.02706           |
| Transfer to Jean Murray MOFFAT  | 54                      | 0.01180        | 0.63720           |
| Transfer to Peter WALLACE       | 21                      | 0.01180        | 0.24780           |
| Transfer to Jean Murray MOFFAT  | 13                      | 0.00015        | 0.00195           |
| No further preference           | 95                      | 1.00000        | 95.00000          |
| No further preference           | 22                      | 0.01353        | 0.29766           |
| No further preference           | 51                      | 0.01180        | 0.60180           |
| No further preference           | 9                       | 0.00015        | 0.00135           |
| Not transferred due to rounding |                         |                | 0.00000           |
|                                 | Total                   |                | 241.28837         |

Report Name: Transfers\_V0009\_Ward-8---Isle-of-Bute\_06052022\_165322.pdf Created: 06-5-2022 16:53:22

This report contains the transfers results.

# Stage 9 - Exclusion of Jean Murray MOFFAT

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Peter WALLACE       | 147                     | 1.00000        | 147.00000         |
| Transfer to Peter WALLACE       | 39                      | 0.01353        | 0.52767           |
| Transfer to Peter WALLACE       | 91                      | 0.01180        | 1.07380           |
| Transfer to Peter WALLACE       | 33                      | 0.00015        | 0.00495           |
|                                 |                         |                |                   |
| No further preference           | 331                     | 1.00000        | 331.00000         |
| No further preference           | 125                     | 0.01353        | 1.69125           |
| No further preference           | 178                     | 0.01180        | 2.10040           |
| No further preference           | 36                      | 0.00015        | 0.00540           |
| Not transferred due to rounding |                         |                | 0.00000           |
|                                 | Total                   |                | 483.40347         |